#31-001

Y=POEN-NBass ETLIPNLG

3

4

16 32 =

8 10 £
11 16

48 240

(1) 24 0 16 32

2X2=4 16X2=324&Y, HOEFX2

"ELSMET,
2 4 0O 16 32
X2 X2 X2 X 2
O=4x2=8

(2) 24 0 8 10

CZHHLCVWTTRe 2+2=4 8+2=10 T95,
MORF+2 "H26HMITHhe
2_4_H 8_I0

+2 +2 +2

o
>

(3) 2. 4 O 11 16

PO#TIrR. ZZE2BNAEE L TRAIMEHFELIT,
4—2=2 = 2+2=4 16—11=5 = 11+5=16

2 4. 0O 1116

+2 +3 +4 +5

l
O=4+3=7

(4) 2 4 00 48 240

2HOBY SRR EIILET,
4+2=2 &Y 2X2=4 #f:, 240+48=5 &Y 48X5=240 LSERS

T3, AOBFX2 FOHFX3 MOKFXL MOHFXS CHATIZCNTEET,

2 4 [ 48 240

X 2 X3 X4 X5

I
O=4x3=12




